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Sociology

Q.No. 1

The temm status symbol was comed by
(&)

Karl Marz

®)

Emile Durkhein

©)

Max Weber

D)

Herbert Spencer

Q.No. 2

The unity and stabihity of the Indian society depends upon
(A)

class system

E)

caste and religion
©)
religion and culture

9)

None
Q.No.3
Demographic dividend i1srelated to the people of
(A)
Old age

B)

Young age
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)

Middle age
D)
Working age
Q.No. 4

Identify the option that does not fall among the different situations of urban impact explamed by M S A
Rao?

(A)

Impact on the villages in which a sizeable number of people have sought emp loyment 1n far-off cities

@)

Impact on villages which are situated near an industrial town

©)

Impact of setting up an industry 1n a village
D)

Growth of metropolitan cities on the ssurounding villages

Q.No.5

Sanskritisation has been criticized tor which of the following reasons?
(A)

It allows for positional change

E)

It allows for structural change
(C)
It stops exclusion and discrimmation

D)

It accepts characteristics of Dalit culture

Q.No. 6

Herbert Spencer 1s the author of

(A)
Class Stiuggle

B)

Revolution



©)

Social Evolution
D)

Independent India
Q.No. 7

Who said-sociology 1s a ‘value free science’
(A)

Max Weber

(B)

Raymond Muny
)

LF Ward

)

Herbert Spencer

Q.No.8

Unequal access to social resources 1s conunonly called?
(&)

Social inequality

B)

Social plurality

©)

Social stratification

D)
Social struggle

Q.No.9

A small IT Fim in India 1s developing a computer progranume for a big company i England Identify the
most suitable term to refer this phenomenon?

(A)

Labour contract

B)
Labowr extension



)

Labow migration

D)

Outsourcmg

Q.No. 10
Which among the followmg 1s based on dwect co-operation?

(A)

Govermment

B)

Church

)
Family

@)

Economic Institution

Q.No. 11

Which of the following statement 1s true
(&)

Society means likeness

B)

Society means mutual aids

)

Society implies differences

@)

All of the above

Q.No. 12

Which among the following statement 1s correct about Jaymani system?

(A)
It 1s a kinship system

®)

It 15 a market exchange system

©)



It 1s a non-market exchange system

(D)
It 1s a banking system

Q.No. 13

Identify the process of adopting the culture traits or social pattems of another group by the tribal people
(&)

Tribalism

EB)

Assimilation

©)

Self reflexivity

D)

Sanskritisation

Q.No. 14

Who were the man camiers of nationalism during colonial period?
(A)

Rural upper classes
=)

Urban nuddle classes
©)

Urban upper classes
D)

Rural middle classes
Q.No. 15

“Man 1s a social anumal” who sai1d?
(A)

Anstotle

B)

Plato

)

Herbert Spencer



D)
Kar]l Maix

Q.No. 16

Select the most appropriate concept that represents a family m which ancestral property 1s inhented by male
members”

(A)

Patrilocal famuly

B)

Patniarchal famuly

)

Patrilmeal family

D)
Matrilineal famuly
Q.No.17

Sociology 1s the

(&)

study of health system
B)

study of human behaviour
)

study of society

D)

study of socio-economic mstitutions
Q.No. 18

The word ‘Sociology’ 1s denved from
(A)

society and logos

B)
soctety and study

()

societus and logos



D)
socletus and study

Q.No. 19

The teim ‘Sociology’ was comned by
(A)

Maciver and page 1n 1876

B)

Auguste Comte 1n 1839

(©)

Anstotle in 1739

@)

Summel n 1360

Q.No. 20

Identify the statement that cannot be considered as the social consequence of green revolution?
(A)

Increasmg mequalities in urban areas

B)

Displacement of service caste groups

©

Increase in the employment and wages of agricultural workers

D)

Worsening of regional inequalities

Q.No. 21

The companies that produce goods or market services m more than one country 1s referred as
(A)

WTO

B)
M

©)
TNC

9)

+]




SBTC
Q.No. 22

In regions where the non-Sanskikjd ddtel wAtB&afinant, it was their mtluence that was stronger Identify
the most appropriate concept to refer this phenomenon?

(&)
Sanskritisation
B)
De-sanskintisation
(©)
Westemisation

(D)

Modemisation
Q.No. 23

15 the branch of management theory that seeks to mcrease productivity and competitiveness
throu oh the creation of a unique organisational culture involving all members of a firm

(A)
Corporate culture

@)

Scientific management
©)
Competition

@)

Pressure tactics

Q.No. 24

Landless migrant workers are also called

(A)

Competent labour

(B)

Labouwr power

)
Intellectual labour

D)



Footloose labour

Q.No. 25

Select the most appropriate stat§pdy) Eglrdd i ptuktialisation in India during the British period?
(A)

There was a sudden move of workers to the new industries in the mitial perod
®B)

The mitial impact of industralisation led to more people moving mto agriculture
)

Industialisation took place in the same way as it happened m Britain

D)

The Bntish policies favoured mote tea planters

Q.No. 26

A system of democracy n which the members of a group or community participate collectively m decision
making This 1s called

(A)

dictatorship
E)

monarchy

©)

representatve democracy

D)

participatory democracy

Q.No. 27

Which among the followmg does not contribute to the contemporary tribal 1dentity?
(A)

Forced incorporation of tinbal communities mto mainstream

@)

Peculiar Primordial characteristics of the tiibes.

©€)

Resistance and opposition to the force of non-tribal world

@)



Educated nmuddle class among the tribal communities

Q.No. 28

Identify the concept that does n&LatpEmvithG YPaldisation®
(A)

Reference model

=)

Self-Conscioumess

©)

Cultural imitation

@)

Modemisation

Q.No. 29
The chief architect of the Indian Constitution 1s
(A)

Pandit Jawaharlal Nehtu

B)
Dr Rajendra Prasad
)
Dr BR Ambedkar
)

Mahabtma Gandhi

Q.No. 30

The changing age structure offers a demographic divided for India Identify from the following choices, the
relevant age range that allows for demographic divided?

(A)
0-14
B)
15-64
()
64-75

@)



75 and above

Answer Sheet

Q.No “ Answer
Q.No. 1 [©
Q.No. 2 1(C)
Q.No. 3 (D)
Q.No. 4 e
Q.No. 5 I(A)
Q.No. 6 @
Q.No. 7 I(A)
Q.No. 8 I(A)
Q.No. 9 (D)
Q.No. 10 1O
Q.No. 11 |(D)
Q.No. 12 1(©)
Q.No. 13 |(B)
Q.No. 14 IB)
Q.No. 15 la)
Q.No. 16 1(C)
Q.No. 17 [©
Q.No. 18 ®
Q.No. 19 |(B)
Q.No. 20 1(A)
Q.No. 21 1(C)
Q.No. 22 |(B)
Q.No. 23 I(A)
Q.No. 24 D)
Q.No. 25 |(B)
Q.No. 26 (D)
Q.No. 27 B)
Q.No. 28 D)
Q.No. 29 1(©)
|QNo. 30 I(B)






